



Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

11/12/2024 02:00 PM | Team To Drive to Indio 11/13/2024 08:00 AM | Installation Day. 1 11/14/2024 08:00 AM | Installation Day 2 11/15/2024 08:00 AM | Installation Day 3 Indio and Sand Hotel 11/15/2024 11:00 PM | Strike Sand Hotel 11/16/2024 08:00 AM | Installation Day 4 Event Day 11/16/2024 05:00 PM | Stand By 11/17/2024 08:00 AM | Strike Event 11/18/2024 08:00 AM | Crew to Drive back to LA PO: Shipping Address: Indio Polo Field & Sands Hotel Invoice Date: Due Date: Upon Receipt

RLE Events

Salesperson: Romina Manolio

Description		Qtty	Price		Total
Pool Party					
	Black Trays For Lounger 18"	12	\$60.00	Т	\$720.00
	DJ Booth to Match Fruit Cart White w/ custom logo in front panel	1	\$600.00	Т	\$600.00
	Props - Carts - Display Cart White w/ custom logo in front panel 96" W x 36"L x 90" H	1	\$960.00	Т	\$960.00
	Small Dining Tables - Palm Springs - Multicolor Wire W/ White Glass Top Painted in Black 31"Diam x 29" 1/2H - Custom Color upon request	6	\$240.00	Т	\$1,440.00
	Dining Chairs - Palm Springs - White Wire Chair white cushions 21"W x 24"L x 32"H	24	\$30.00	Т	\$720.00
	Mix and Match Pillows	70	\$30.00	Т	\$2,100.00
			Total Pool P	arty	\$6,540.00
Rehearsal Dinr	er Pool Area				
-	Sofas - Palm Springs - Tufted Ivory 6'W x 3'L x 30"H - Mix n' Match with Palm Spring Collection	4	\$600.00	Т	\$2,400.00
	Coffee Tables - Marrakesh - Carved Painted Wood Rectangular 48"W x 25"L x 21"H	4	\$234.00	Т	\$936.00
	Club & Lounge Chairs - Bora Bora - Accent Chair 26"W x 27"L x 33⤠₪	8	\$72.00	Т	\$576.00

escription		Qtty	Price		Total
	Club & Lounge Chairs - Bora Bora - Club Chair 28"W x 33"Wx 33âx 🕅	4	\$210.00	Т	\$840.00
	Club And Lounge Chair - Tucson - Bamboo Arm Chair With Natural Rope Detail 26" x 24" x 36"H	4	\$228.00	Т	\$912.00
	Accent Tables - Capitola - Metal - Matte Sage 14-3/4" Round x 22-1/2"H	4	\$120.00	Т	\$480.00
	Accent Tables - Capitola - Metal - Sienna Matte 14-3/4" Round x 17-3/4"H	4	\$120.00	Т	\$480.00
	Assorted Accent Pillows	70	\$30.00	Т	\$2,100.00
	Ottomans - Casablanca - Sequins & Fringe Coin 24"Diam x 18"H	2	\$42.00	Т	\$84.00
	Ottomans - Casablanca - Print & Natural Fringe 20"W x 20"L x 14"H	4	\$42.00	Т	\$168.00
	Palm Springs - Dining Table - Reused from Pool Party	4	\$0.00	Т	\$0.00
	Palm Springs - Dining Chairs - Reused from Poll Party	16	\$0.00	Т	\$0.00
	Palm Spring - Dining Chairs Cushions Covers only Custom Moroccan Tile Pattern	16	\$36.00	Т	\$576.00
	То	otal Rehearsal Dinner Pool Area			\$9,552.00
ehearsal Dinne	er Olive Garden				
	Club And Lounge Chairs - Palm Springs - Tufted Ivory To be used as Sofas 3'W x 3'L x 30"H - Mix n' Match with Palm Spring Collection	4	\$300.00	Т	\$1,200.00
	Small Dining Tables - Palm Springs - Multicolor Wire W/ White Glass Top Painted in Black 31"Diam x 29" 1/2H - Custom Color upon request	1	\$240.00	Т	\$240.00
	Palm Spring Dining Tables - Re used from pool party	2	\$0.00	Т	\$0.00
	Dining Chairs - Palm Springs - White Wire Chair In Black 21"W x 24"L x 32"H	4	\$30.00	Т	\$120.00
	Palm Springs - DIning Chairs re used from Pool party	8	\$0.00	Т	\$0.00
	Spring - Dining Chairs Cushions Covers only Custom Moroccan Tile Pattern	12	\$36.00	Т	\$432.00

Description		Qtty	Price		Total
	Coffee Tables - Marrakesh - Carved Painted Wood Octagon 32"Diam x 21"H	2	\$234.00	Т	\$468.0
	Club & Lounge Chairs - Peacock Armchair 33"W x 26"L x 53"H - 16" seat height	2	\$210.00	Т	\$420.0
	Club & Lounge Chairs - Peacock Chair 02 42.25"W x 27.75"L x 57"H - 18" seat height	2	\$210.00	Т	\$420.00
	Club & Lounge Chairs - Peacock Chair 01 43½"W x 21"L x 58"H - 18" seat height	2	\$210.00	Т	\$420.00
	Accent Tables - Capitola - Metal - Matte Blush 12-1/2" Round x 14-1/2"H	2	\$144.00	Т	\$288.00
	Tot	al Rehearsal	Dinner Olive Gar	den	\$4,008.00
Ceremony :					
	Clear Easel	1	\$30.00	Т	\$30.00
	Pedestal - Buenos Aires - Clear 04 for Kiddush 14"W x 14"D x 24"H	1	\$60.00	т	\$60.00
			Total Ceremor	ıy :	\$90.00
Cocktails :					
	Bars - Monaco - 5pc Round (e/ Bar: 4 Large- 1 Small) Cover Mirrors - Painted mahogany 16'10"Diam x 3'7"H - Color Change Upon Request	1	\$4,800.00	т	\$4,800.00
	Barback - Boston - Round W/ Plexiglass Tier Shelves Painted Mahogany 4'2"D x 7'2"H - Color Upon Request	1	\$360.00	Т	\$360.00
			Total Cockta	ils :	\$5,160.00
Cocktail Wall Ou	itside tent				
	Valance	1	\$0.00	Т	\$0.00
	Champagne Velvet To Cover Outside off tent 164' x 13'H Creating 1 entrance to Reveal Tents entrance - Service	1	\$3,564.00	Т	\$3,564.00
		Total Cockt	ail Wall Outside t	ent	\$3,564.00
Tunnel Entrance					
	Gable Wall In champagne Velvet 1- Side to Cover after Party 71' Wto the Pick 1- side to Create entrance for reception 71' W to the Pick	2	\$2,160.00	Т	\$4,320.00
	Fabric To Cover coat check in Champagne Velvet	1	\$960.00	Т	\$960.00
	Aprox - 50' x 13'H				

Description		Qtty	Price		Total
	Chandeliers - Vienna - Amber 68" 68"W X 83"H - 210lb - 1,500Watts	1	\$1,680.00	Т	\$1,680.00
	Heirloom Shelf (Sub Rented)	2	\$474.00	Т	\$948.00
	Custom Made Table cloth In Pacific Velvet For a 36" round with thick Welting top and bottom	1	\$240.00	Т	\$240.00
		Т	otal Tunnel Entrai	nce	\$10,308.00
Reception :					
	Over Size Man Build palm trees	1	\$0.00	Т	\$0.00
	art work Frame and Mirror Walls	1	\$0.00	Т	\$0.00
	Custom Made Table Cloth for Champagne Table Tamara Velvet	1	\$240.00	Т	\$240.00
	Custom Made Pick Wall in Pacific Velvet 100x 30'H to Cover the stage Wall stage with Overlapping Swags in Sheer	1	\$9,600.00	Т	\$9,600.00
	Custom Made Pick Wall In Pacific Velvet 100 x 30'H To Cover entrance wall With Overlapping Swags	1	\$9,600.00	Т	\$9,600.00
	Custom Made Wall Treatment to Cover 200'x 14'H In Pacific Velvet W /Valacne Also Covering Tech Area Left and Right Stage With Extra FAbric To Create Movement on Side walls	1	\$9,000.00	Т	\$9,000.00
	Custom Made Ceiling to Cover 5 Bays in a Matching Color Color IN Poplin Lagoon 2050	1	\$30,000.00	Т	\$30,000.00
	Barback - Wood W/ Shelves Painted in Mahogany With Tiffany Panels Extensions 2 per Barback 96"W x 20"L x 12'H - Frame Color Upon Request	2	\$1,440.00	Т	\$2,880.00
	Bars - Carmel - Straight 10' Custom Front in Cheetah Print - Top In Mahogany 10'W x 30"L x 42"H - Front Options Upon Request	2	\$1,800.00	Т	\$3,600.00
	Bars - Carmel - Curved 6' Custom front in Cheetah Print Top In Mahogany 6'W x 30"L X 42"H	4	\$1,200.00	Т	\$4,800.00
Ŧ	Dining Table - Tuscany - Dark Wood Round 66" 66"Diam X 30"H	8	\$480.00	Т	\$3,840.00
	Booths - Round Channeled Champagne Velvet 2pc Set 6⤠© 10"₩3⤠© 2½3⤠© 3"H	8	\$720.00	Т	\$5,760.00
	Custom Made Cover For Booth In Tamara Velvet	8	\$540.00	Т	\$4,320.00
	Stage Front In TBd 1- 32'x 32" front 2- 8'x32" Sides	1	\$5,760.00	Т	\$5,760.00

Description		Qtty	Price		Total
	Dance Floor 32'x 24' with Full wrapped DEcal	1	\$8,976.00	Т	\$8,976.00
	Chandeliers - Vienna - Amber 48" 48"W X 57"H - 100lb - 750 Watts	3	\$1,320.00	Т	\$3,960.00
	Chandeliers - Vienna - Amber 44" 44"W x 47"H - 95lb - 750 Watts	4	\$960.00	Т	\$3,840.00
	Custom MAde Mix and Match Shades Different Sizes and Shapes and Covers to be place in the center of the Room to Fill in a 20 x 20 area and 4- Clusters around the rooms	1	\$54,000.00	Т	\$54,000.00
	Console Tables - Florence - Multicolor Whitewash 6' Painted in mahogany 71"W X 16"L X 31"H - It can be painted with a whitewash finish	4	\$144.00	Т	\$576.00
	Table Lamps - Ceramic Cheetah With Custom Shade	2	\$180.00	Т	\$360.00
			Total Reception	on :	\$161,112.00
Afterparty :					
	Coffee Tables - Manchester- Round Wood 54" Diam x 20"H	6	\$180.00	Т	\$1,080.00
	MIX AND Match Pillows	50	\$30.00	Т	\$1,500.00
R	Accent Table - Savannah - Mirror Top & Gold Faux Bamboo Tray Only to go over Leather ottomans and Coffee tables Manchester 30"W x 19"L x 20"H	8	\$48.00	Т	\$384.00
Ţ	Stand Up Tables - Manchester - Dark Wood 36â® ®rnd x 42â® ®H	4	\$330.00	Т	\$1,320.00
_	Acacia Palms for after Party	1	\$0.00	Т	\$0.00
	Round Mahogany Barback	1	\$432.00	Т	\$432.00
	Burgundy Velvet 2- Gable walls 2- 50'x 13'H walls	1	\$7,320.00	Т	\$7,320.00
	Ceiling Treatment in Burgundy Velvet to cover 3 bays	1	\$18,000.00	Т	\$18,000.00
	Bars - Monaco - 5pc Round (e/ Bar: 4 Large- 1 Small) Painted Mahogany 16'10"Diam x 3'7"H - Color Change Upon Request	1	\$4,800.00	Т	\$4,800.00
	Dj Booth - Mirrored Curve Painted Mahogany	1	\$600.00	Т	\$600.00

Description		Qtty	Price		Total
	Panels - Flat Arched Alcove Painted in Mahogany 8'W x 10'H	10	\$600.00	Т	\$6,000.00
	Chandeliers - Tuscany - Black Brass 40" No Crystal - burgundy Shades 40"W X 43"H - 40lb - 750 Watts	4	\$720.00	Т	\$2,880.00
	Sconces - Sevilla - Rustic Black Cheetah Shades 11 1/2" w x 14"H - Weigh 2.9lbs - 30 watts	16	\$180.00	Т	\$2,880.00
	Sconces - Sevilla - Rustic Black Cheetah Shades	4	\$180.00	Т	\$720.00
Autuutianin ar	Sofas - London - Sectional - 3pc Left 74"W x 40"L x 31"h Middle 78"W x 40"L x 31"h Right 74"W x 40"L x 31"h - Can be 3pc o 2pc	2	\$720.00	Т	\$1,440.00
States of the second se	Sofas - London - Chesterfield 02 86"W x 40"L x 31"h	4	\$480.00	Т	\$1,920.00
	Club & Lounge Chairs - Budapest - Vanity Chair Burgundy Velvet & Fringe 26"W x 25"L x 28"H	6	\$216.00	Т	\$1,296.00
T	Small Dining Tables - Paris - Bistro Table W/ Marble Top 24"Diam X 29"H	6	\$180.00	Т	\$1,080.00
H	Benches - Iron Drops Cheetah Print Cushions 48"W X 16"D X 20"H	2	\$240.00	Т	\$480.00
	Ottomans - London - Leather Tufted 48"W x 48"L x 17"H	2	\$108.00	Т	\$216.00
	Club & Lounge Chairs - Lyon - Vanity Chair Oatmeal Custom Upholster In Burgundy Velvet 26"W x 25"L x 28"H	5	\$240.00	Т	\$1,200.00
	Club & Lounge Chairs - Lyon - Vanity Chair White Custom Upholster In burgundy Velvet 25"W x 26"L x 28"H	1	\$240.00	Т	\$240.00
	Club & Lounge Chairs - New York - Swivel Chair Grey Velvet With Custom Pacific Blue Covers	4	\$216.00	Т	\$864.00
L	28"Diam x 34"H Club & Lounge Chairs - New York - Swivel Chair Orchid With Custom Pacific velvet Cover 28"Diam x 34"H	8	\$216.00	Т	\$1,728.00

Description		Qtty	Price		Total
	Club & Lounge Chairs - London - Cranleigh Club Chair 31"W x 31"L x 34"H	8	\$240.00	Т	\$1,920.00
Ī	Accent Table - Manchester - Wood W/ Motive On Top 16"Diam X 27"H	8	\$72.00	Т	\$576.00
•	Table Lamps - Recycled Glass & Metal 4-1/2" Diam x 6 1/2"H - LED Operated	12	\$24.00	Т	\$288.00
	Table Lamps - Metal & Mango Wood W/ Antique Finish 4"Diam x 11 1/2"H - LED operated	12	\$36.00	Т	\$432.00
	Club & Lounge Chairs - New York - Low Chair Purple Custom Upholstery in Zebra Print 25"W x 32"L x 30"H	4	\$240.00	Т	\$960.00
	Club & Lounge Chairs - New York - Low Chair Charcoal Custom Upholstery in Leopard 25"W x 32"L x 30"H	4	\$240.00	Т	\$960.00
			Total Afterpa	rty :	\$63,516.00
Services					
	Installation For Dancefloor and lodging	1	\$950.00		\$950.00
	Greenery Installation & Strike	1	\$0.00		\$0.00
	Drive to Palm Springs	14	\$350.00		\$4,900.00
	Day one of installation Wednesday	14	\$650.00		\$9,100.00
	Day 2 of installation Thursday	14	\$650.00		\$9,100.00
	Day 3 of Installation Friday - Instal polo Field and Sands	14	\$650.00		\$9,100.00
	Strike Sand Over night	4	\$450.00		\$1,800.00
	Installation Day 4 and event day	10	\$450.00		\$4,500.00
	Stand by	4	\$350.00		\$1,400.00
	Strike team	14	\$650.00		\$9,100.00
	Crew Driving back to LA	14	\$350.00		\$4,900.00
	Transportation	8	\$550.00	Т	\$4,400.00
	Hotel For Crew from Tuesday to Monday Final price wehn reservations are made	8	\$1,500.00		\$12,000.00
	Hotel From Manager from Wednesday to Sunday- Final Proce when presentation are made	1	\$1,250.00		\$1,250.00
	Per diem for team	16	\$483.00		\$7,728.00
	Manager on site - Presentation - Renderings - Desing consultation	1	\$12,000.00		\$12,000.00

Please make checks payable to Revelry, Inc. Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it

Notes

Total Products: \$263,850.00 Total Labor/Services/Misc: \$92,228.00 Wear & Tear (4.00%): \$10,554.00 Packing (2.00%): \$5,277.00 \$25,483.75 Taxes : **Discounts:** (\$0.00) Total: \$397,392.75 Payments: (\$0.00) **Balance:** \$397,392.75